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administrator receives a report that no real time statistics are available for a virtual machine in the vCenter Server inventory.Which

two statements indicate likely causes of the problem? (Choose two.)A.    The virtual machine is powered off.B.    The host

containing the virtual machine is disconnected from vCenter Server.C.    There is insufficient real time data to display the

information.D.    The vCenter Server service is not running.Answer: ABQUESTION 159Which three actions can be executed when

an alarm is triggered? (Choose three.)A.    Send an email.B.    Send an SNMP trap.C.    Run a script or command.D.    Run an

Orchestrator workflow.E.    Send a trigger to syslog.Answer: ABCQUESTION 160Which two events happen when Distributed

Resource Scheduler (DRS) is disabled? (Choose two.)A.    The cluster's resource pool heirarchy and affinity rules are re-established

when DRS is turned back on.B.    The cluster's resource pool hierarchy and affinity rules are not re-established when DRS is turned

back on.C.    The cluster's resource pools are removed from the cluster.D.    The cluster's resource pools are removed from the

cluster and assigned to the hosts.Answer: BCQUESTION 161An administrator attempts to create a Thick Provisioned Virtual Disk

(VMDK) on an NFS datastore; but it fails.Which two reasons would explain the failure? (Choose two.)A.    Datastore is on an NFS 3

storage server that does not support Hardware AccelerationB.    Datastore is on an NFS 4.1 storage serverC.    Only VMFS

datastores support "Thick Provisioned" VMDKD.    The NFS datastore was not created on a "Thick Provisioned" deviceAnswer:
ABQUESTION 162A small company wants to use VMware products for its production systems. The system administrator needs to

recommend a solution that will deliver High Availability to the company's production applications.What is minimum vSphere

offering that will support this requirement?A.    vSphere EssentialsB.    vSphere Essentials PlusC.    vSphere HypervisorD.   

vSphere StandardAnswer: BQUESTION 163Which two options would allow a database administrator, with no access to the

vSphere infrastructure, to connect to a virtual machine? (Choose two.)A.    Use the Virtual Machine Remote Console (VMRC).B.   

Use Remote Desktop Protocol (RDP) to connect.C.    Ask the vSphere administrator to grant permission to access the console

through vCenter Server.D.    Ask the vSphere administrator to grant permission to access with the Horizon View Direct Connect

Client.Answer: BCQUESTION 164A vCenter Operations Manager 5.7 environment is upgraded to vRealize Operations. After the

upgrade, the analytics services fail to start.Which three steps must be taken to resolve the problem? (Choose three.)A.    Take the

vRealize Operations cluster offline.B.    Delete the activity persistence files.C.    Bring the cluster back online.D.    Remove any

unresponsive nodes.E.    Stop the CaSA service.Answer: ABCQUESTION 165Refer to the Exhibit. An administrator is analyzing a

virtual machine as shown in the Exhibit. What is the current long term risk for this virtual machine?A.    The virtual machine may

run out of memory before April 27.B.    The virtual machine may continue to function after April 27.C.    The virtual machine has

adequate memory configured for operation for the next 120 days.D.    The virtual machine has adequate memory reservation

configured for operation for the next 120 days.Answer: AQUESTION 166Which two statements are correct when turning off a

Distributed Resource Scheduler (DRS) Cluster? (Choose two.)A.    The resource pool hierarchy of the DRS cluster is maintained.B.  

 The resource pool hierarchy of the DRS cluster is removed.C.    The affinity settings of the DRS cluster are removed and not

maintained when DRS is re-enabled.D.    The affinity settings of the DRS cluster are maintained when DRS is re-enabled.Answer:
BCQUESTION 167Which three operations occur during a cold migration of a virtual machine? (Choose three.)A.    The virtual

machine disks are moved if the datastore is being changed.B.    The virtual machine is registered with the destination server.C.    The

source virtual machine is removed from the old hosts.D.    The virtual machine hardware is upgraded.E.    The virtual machine files

are quiesced prior to the migration.Answer: ABCQUESTION 168A vSphere administrator needs to backup a virtual machine that

has a Microsoft SQL Server Database installed.Which solution allows for an application quiesce to occur during backup?A.   

VMware vCenter ConverterB.    VMware vCenter Site Recovery ManagerC.    VMware vSphere ReplicationD.    VMware vSphere
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